Q2 The average age of A, Band C is 26
years. If the average age of A and Cis 29
years, what is the age of B in a year?
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In a certain code language, SUNSET is written
as RTMTFU. How will JORDEN be written in
that language?
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Q1 Pointing to a photograph of a boy
Suresh said, "He is the son of the only son of

my mother." How is Suresh related to that
boy?



Q2 Brothers and Sisters | have None:
Looking at a portrait of a man, Harsh said,
"His mother is the wife of my father's son.
Brothers and sisters | have none." At whose
portrait was Harsh looking?
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